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X o 2 % | BEHH [0.3ha 0.3~ 0.5~ 1.0~ 2.0~ 3.0ha
Ok (Y=L L Kiwi|  0.5ha 1.0ha 2.0ha 3.0ha DLk
2005 21,617 1,259 5,893 8,699 4,359 835 572
(H17) (100.0) (5.8) (27.3) (40.2) (20.2) (3.9 (2.6)
15,598 827 4,612 6,297 2,889 566 407
i— ) ] ] ]

IR 5 o) G| ©9.6| @] 85| 66| @6
2010 18,990 191 908 4,737 7,534 4,107 811 702
(H22) (100.0) (1.0) (4.8) (24.9) (39.7) (21.6) (4.3) (3.7
2015 15,841 156 841 3,824 6,112 3,422 759 727
(H27) (100.0) (1.0) (5.3) (24.1) (38.6) (21.6) (4.8) (4.6)
Py 82,156 704 3,132 20,519 32,841 17,382 4,172 3,406

2015(H27) (100.0) (0.9) (3.8) (25.0) (40.0) (21.2) (5.1) (4.1)
= 1,377,266 16,089 32,919 | 256,106 | 436,249 | 333,369 | 115,983 | 186,551

2015(H27) (100.0) (1.2) (2.4) (18.6) (31.7) (24.2) (8.4) (13.5)
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0O2.0~3.0ha 02.0~3.0ha
12 000 34221 | 60.0% -
O1.0~2.0ha b1.0~2.0ha
10000 71534 B 00.5~1.0ha >0.0% 39.7% 38.6%] 00.5~1.0ha
8000 6,112 |1 40.0% -
m0.3~0.5ha m0.3~0.5ha
6 000 - 30.0%
00.3hakii 00.3hakiis
4000 41737 382 B o E 20.0% 24.9% 24.1%| | oiRE#HH
G0k # #L
2000 - =L 10.0% <
84T 4.8% 5.3%
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